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For instance; Moso Mechasyoh — N°On% Xnn A0

OVERVIEW

X9D 72 0797 said in the name of X701 27 that this leniency (that we allow the
wedding to precede the m»°2aX) is only if water was already poured over the
wedding meat (so if it is not used now it cannot be sold and there will be a
monetary loss), however if the water was not poured over the meat, the wedding is
postponed (because the meat can be sold [easily]). 827 qualified this ruling that in a
large city it can be sold even if the water was poured (so the wedding is always
delayed). ¥99 27 (also) qualified this ruling (in the opposite manner) that in a
village even if no water was poured it cannot be sold (so the wedding is never
delayed). The %713 asked so when is the ruling of X701 27 (that there is a difference
whether the water was poured or not) applicable (neither in a 773 nor a 79> [for in
those types of cities it makes no difference whether the water was poured or not]).
The X713 answered it is applicable in a city like X°01n Xn» (which is smaller than a
775 and larger than a 753). 190N discusses the need of 1" to seemingly narrow the
scope of the Xn»72.

nvoIN asks:
= YA 3) DY 0 1NN MMPIND DYDY INN NTON 29 NN

It is astounding! What forced X701 29 to establish the Xn>71 in a case where he

poured the water over the meat (and then have the difficulty to explain in what type of

city the ruling of the Xn>171 is effective) -
= 2493 %3) by D 1N XDV 29 DY N 19952 NN

Let X701 27 establish the Xn>71 in a village, and it applies in all cases even when
he did not pour the water over the meat??

MB0IN answers:
= 111931992 1Y 7Y 2992 NNPIND RTON 299 19D NNT DIVN 99D YU

"' We could not establish it by a 773, for indeed by a 713 the ruling of this Xn*12 does not apply since he can always
sell the meat (and the wedding is always delayed). However, we can establish it by a 793, where the rule of the
Xn»12 (that the wedding is not delayed) is always valid regardless whether 2wa ¥ 0 01 or not (as X959 21 ruled).
2 There will be two advantages if we establish it by a 753 and 2% 101 X7w 9"x. Firstly the X012 does not mention
that he was already w27 v 0% 101, and secondly why narrow the ®n»92 to only one city (X°0nn Xnn) when it can
apply to all the o19>.
3 We cannot answer that 1" established this Xn>>12 by o°» 101 (and X°0n7 Xnn) because of the upcoming ®n>*72 which
mentions 2°» N1, because if he knew of the Xn**72 he should have cited the X072 (see "X N19OIN).
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And one can say; because X7on 29 prefers to establish the xn» 1 by the

majority of cities which are of average? size; neither very large like a 712, nor very
small like a 770 —
= $1Y9%%¥ 2)9) XOONND RNM 1) 599RP 991

And this is what WX 17 answered; for instance X°or» Xn» and the majority of
cities, which are similar in size to X°0m2 Xnn -

1Y 2193 Y99INT DIV S9WA 2a) DY D 1NN NPT NN ) VP 29N DIV
And that also explains why the newly cited Xn>>72 mentions w2 23 % 2% 3,
because that Xn»71 is discussing a majority of cities (which are of average size).

SUMMARY
It is preferable to establish a Xn»92 where it covers a majority of cases rather than a
limited amount of cases.

THINKING IT OVER
Is the question’ on the (second) Xn»12 the same as the question on X701 27 (or is
one stronger than the other)?®

4 There are more (people in) cities like X°0rn Xnn (which are nv11°2 M7™y) than there are (in) 0192,
5 X°0mn Rna is not a singular exception to a 193 or a T12; rather it is representative of a majority of the average size
cities that are neither a 992 nor a 772.
% Seemingly the same question (and answer) that applies to X701 27 applies to this X072 as well; why mention 101
qwa %y o°n when it can be discussing 093. See ‘Thinking it over’.
7 See footnote # 6.
8 See v X PrY> 0775
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